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ODEXEBEEME (1) < BEREHEA >
1 H 2 B 3 B 8 10 A 11 12 B B2 it
B ¥ mIFEk] & ¥ EFEkk] & ¥ miFEH & = = = B = B #% HIElk| & # 5 ¥ BIELE] & % FIEt
B X 390  125.0 457  93.8 552 83.9 1,399  96.0
wmE 477 110.2 606 126.3 643  95.4 1,726  108.8
F % 534 94.2 727 95.7 913  94.9 2,174  95.0
B E 590  100.2 738 98.7 955  94.6 2,283 97.3
g4 757  106.9 933  114.6 1,159 101.6 2,849 107.0
X B 416 98.6 653 114.6 779 105.8 1,848 106.9
£ H 10,399 101.5| 13,057 106.2 | 17,460  99.6 40,916  102.1
@ A (2)
1 B 2 B 3 B 6 8 A 10 A 11 12 A 2 E
= B ¥ RIFEHk] & ¥ RIFEtk] & ¥ miFEH & = = = & % = & H miEL| B &% 5 ¥ BIELE] & % FIEt
= 47 180.8 30  96.8 72 105.9 149  119.2
wmE 17 515 58 214.8 38  76.0 113 102.7
F % 31 96.9 39 100.0 84  85.7 154 91.1
B E 27  108.0 24 109.1 59  125.5 110 117.0
Z 4 21 1235 30 120.0 49  86.0 100 101.0
X B 29  120.8 49  128.9 76 98.7 154 110.8
£ = 526 93.4 671  93.7 1,421  108.5 2,618  101.1
QE EEXE B E (3)
1 B 2 A 3 A 4 8 A 10 A 11 12 A £ i
B ¥ RIFEL| & 3 REL & ¥ jiFEk & 2 = = = a8 =) B ¥ HElkk | & # & ¥ miElk] & % §iEbk
® = 9,572 112.9 | 11,659 114.1| 15,274 104.4 36,505 109.5
3= Jlﬁ] 8,789 110.3 | 10,066 109.9 | 12,999 100.1 31,854  105.8
F 7,674 114.8 9,369 118.4| 12,020 106.7 29,063 112.4
B E 7,612 112.0 9,138 113.0| 11,882 100.6 28,632  107.3
o 10,659 113.6 | 12,788 114.7 | 16,043 100.2 39,490  108.0
X IR 6,854 117.1 8,393 119.5| 10,898 105.4 26,145 112.6
£ [E | 135,130 112.5| 166,099 116.1 | 222,484 102.5 523,713 109.1
@B EME (4)
1 A 2 A 3 A 8 A 10 A 11 12 A 2 it
B ¥ RIFEL] & M RFEkk] & % miEH & B 3 = B 3 5 # & & % miEk| & &% £ ¥ HIEL| & ¥ W&k
B = 742 112.3 936 105.3 1,208  94.8 2,886 102.2
= 697  99.9 852 101.1 1,096  99.9 2,645 100.3
F 758  112.8 865 107.9 1,120 88.9 2,743 100.3
B E 769  103.4 950 102.9 1,287 103.6 3,006 103.3
Z 4 1,120 117.9 1,287  104.9 1,689  93.4 4,096  102.8
X B 887  136.3 1,099 138.8 1,289  109.3 3,275 124.9
& = 13,691 108.2 | 17,106 108.4 | 22,974  96.9 53,771  103.2
® B EFHE (5-7)
1 B 2 A 3 A 8 A 10 A 11 12 A £ i
B ¥ EIFEHL] & ¥ EIFElk| & ¥ miFEH & B 3 = = a5 = B #% HElkk| & # 5 ¥ RIELE] & ¥ FIEH
B X 4,162  101.0 4,893  101.5 6,781  92.4 15,836  97.3
M= “% 4,633 102.3 5,379  103.6 7,182  91.0 17,194  97.6
F 4,540 101.4 5,558  105.8 7,398  92.8 17,496  98.8
b S 4,735  98.5 5,719 101.0 7,534 90.7 17,988  95.8
g 4 6,133  98.1 7,514 107.0 9,707  91.4 23,354  97.7
X IR 3,859  108.4 4,685 109.4 6,558 101.3 15,102  105.5
£ H 86,952 101.9 | 106,472 105.2 | 149,871  93.5 343,295  99.0
® # B8 #
1 A 2 A 3 A 8 A 10 A 11 12 A £ i
B ¥ RIFEL| & M RELk] & % jiFEk & 3 B 3 B % B 3 B B & % miER| & % & ¥ miElk] & % §iElk
B = 15,155 109.7 | 18,325 109.2 | 24,414  99.9 57,894  105.2
= 14,823 106.8 | 17,261 108.1 | 22,313  96.5 54,397  102.7
F OE 13,828 108.7 | 16,898 112.2 | 21,982  99.9 52,708  105.9
b2 S 13,985 105.9 | 16,863 107.0 | 22,151  96.8 52,999  102.2
p R 18,943 108.0 | 22,830 111.0 | 29,076  96.7 70,849  103.9
X B 12,295 114.7 | 15,237 117.9 | 19,993 104.1 47,525  110.9
£ [E | 251,004 107.6 | 309,042 111.1| 421,968  98.6 982,014 104.6
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